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1. Answer the following questions : 1>«5=5

Ik ill S

(a) Who is known as the father of
taxonomy?

?

(b) What are coacervates?

(c) What do you mean by soredia ?

1% "

(d) What is hormogonia?
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(e) In which genes of Bryoph3rte would you
find a gemma cup?
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2. Answer any fiv^ of the following questions :
2x5=10
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(a) "Viruses are living thing." Explain
briefly.

I" I

(bj Define heterospoiy citing example.

(c) Write about different types of cymose
inflorescence.

(d) "Bryophytes aire the origin of land
plants." Justify.

^Gfgf "^5 r sFHk WI

(e)_ Write the structure of microsporophyll
of Cycas.

(f) Mention the industrial importance of
fungi.
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(g) What are the demerits of Telome
theory?

<3J<P01C<I 1^ #1%?

(h) What do you mean by phylogenetic
tree ?

(i) . What is rostellum ? Mention its
functions.

1%,? ^ I

(j) : Describe briefly the structure of a
matured archegonium of Lycopodium.

3. Answer briefly any four of the following :
5x4=20

^oivs liT<jl(.<ih<^ %

(a). Phylogenetic classification

(b) Fruiting body of Agaricus

(c) Cauliflower Mosaic Virus

(d) Prothallus of Pteris
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(e) Sporoph3rte of Polytrichum

(f) Economic importance of lichen

(g)- Vegetative and reproductive characters
of Lamiaceae

^511^ 2t^5(5R

4. Answer any ofic of the following : 10
S  . ,

(a) Describe the thallus morphology and
details of reproductive structures of
Chora with neat diagram.

<M<R spsfjR

^ «Rt I
(b) Write briefly on the process of genetic

recombination of bacteria.

1^1
(c) What is stele ? Describe different types

of stele found in Pteridophytes with
suitable diagram.

"5rtl?T 1%?

(d) Describe the current status oif fungi in
the living world.

R'iki
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